& % 5a - 45 9] Q57 obd 2L

@5 @ a+3 ® a-3

@ a*-9 @5a2




2. 4a® -12ab + 9b* & A5-E5f SHH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(da—9b) @) (24 - 3b)*
® (4a+b)(a+9b)

4a2 — 12ab + 9b% = (2a — 3b)?




3.

4x% + Ox + 16 ©] &HAFA0] E o, o]

@® (2x+1)? @ (2x+2)?
@) (2x+ 2y ® (2x5)?

(2x+4)% = 4x® + 16x + 16




‘ x%=5x+6=(x—2)(x-3)




(F4) = (4x-3) (2x-1)°|B=&
4x—-3+2x—1=6x—-4




@ x*+2x+1

@x2 + 3x

@ 2x% + 3x

@ x> +3x+1

® 2x24+2x+1

= x2 + 3x

x(x + 3)




7.  X’y-—2xy+3x? & ARl A2

2~ .

@xy(x+3y—2) @ (x=y)(x+3y)
® (2x-y)(x—3y) @ xy(x—3y-2)
© (x-y)(x-2y)

x%y = 2xy 4 3xy® = xy(x + 3y - 2)




A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)

o] m,

2
132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




9. a+b=2,a*-b*=10 & W, a—b 9 g F3tofeh

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




¥ +6x+m=(x+n)?

(@)sz,nzS @ m=9,n=-3 @ m=9n=6
@® m=3,n=3 ® m=3,n=-3

x? +6x 7} LA FA0] HHH X2+ 6x+9 = (x+3)? °|EE
m=9,n=3 o|T},




11. 5 o34 &% 4 2x - 3, 22 4+ 5x - 3 2] F&4I I5E oteiet
o

>
> =eh: x+3

2 +2x-3=(x-1)(x+3)
2x2 4+ 5x-3=(2x-1) (x + 3)




12.

O|AFA 3x% + (2k - 3)x — 65 ALESHSHH (3x - 1)(x + 6) °] 2L
et olmf, ko] & Fstoiet

> E

> Hg: k=10

(3x—1)(x+6) =322+ 18x—x—6
=3x>+17x-6

x 9] AX}3}E] AlpE H|wotH

2k—3 =17

s k=10




13. AAE 9] Wolrt 3¢2 +a—10 o]aL 7k2 9] Fol7ta+2 & 1, o]
A2k o] A|22] ol ot ?

D 3a+5 @ -3a+5 ® -3a+3

@®)3a -5 ® 2a+5

3a®+a—10 = (a+2)(3a-5) |22 M|29] Ao]i=3a-5 °|t}.




@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@ (x+5)(x+)

~&B

(x+3y)? - 4% = (x +3y)> - (2y)* | B2
x+3y=A, 2y=BetoH
A2—B2 = (A+B)(A-B)

= (x+ 3y +2y)(x + 3y - 2y)

= (x+5y)(x+)




i L
ot
a1
QNJ
i
Ql\')
[
=
_|_
filo
ro
I
M
:?L_[‘
;gig‘
o

&
o
&
oo
N,
2
>
[
o,
¥
N

H7
@ x+1 © x-1 © a+1
® x-2 @ a-1
® 6,0, ® ©,0 ®)O,©, ®
ONENG) ® ©,6,0

a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




16. o2 gkl o] 4B HA A @), ©°f o] 8% FA-S H7|oA

Zlo} 24| = A2 ]—3— AL

+2xy+1yi—1
T g
=(z+y+1)(z+ y—l)j©

B
71 a +2ab+b2 (a+0b)?

“h
(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)




17. x=-1+ V2 Ao, 2420+ 19 @< Fopodal,

> E.

> ®e: 2




Zo)7k x 2 BAFE O] Wel

#o)

o

x+2

.

ul

T HOIE ME 2 - 40122 (x42)(x-2)




19. ax?—18x+b 7t x+1 3 2x-11 2 YrojHolA of, a + b O] 3HS
“Fotoigt,

ax®> —18x+b=A(x+ 1)(2x - 11)
ax®> —18x+b = A(2x* - 9x — 11)
ax® —18x+ b = 2Ax* - 9Ax - 11A
A=2,a=4,b=-22
a+b=-18




20.

2 4+ax—20292°

215 Shrhx+ 4 2 g 9 g2

@ -2 @—1 ®0 @ 1

X +ax-20=(x+4)(x-5) a=-1




21.

(x—y)2—12x+12y+36 = (x +ay+b)> L W, &5 a, b F

ab 9]

&

@ 2 @ 4 @6 @ 11 ® 16
x—y=A= X5t
A?-12A4+36=(A-6)2=(x—y-6)

a=-1, b=
. ab=06

(
-6




22. ab+5a—-3b-23 =0 & WFH= Z5 a b 9 g Fotoeth
(ta>0,b>0)

> E.

i

v V. V
X
i
Q
I
>~

0x
i
S8
|

w

S5 ~
ab+5a—-3b-23=0
a(b+5)-3(b+5)+15-23=0
(@a-3)(b+5)-8=0
(a-3)(b+5)=38
a>0,b>009B2p+5>5
a-3=1,b+5=8
La=4,b=3




23.

(x=1)(x=2)(x=3)(x—4) +m ©] &AA
o] gk otofet,

>

> At m=1

~&B

(x=1)(x-2)(x=3)(x—4) +m
=x-1Dx-49)x-2)(x=3)+m
= (x> =5x+4)(x> =5x+6) +m
x?-5=1 2 g5t
(t+4)(t+6)+m
2 +10t+24+m
2+ 101424+ m = (14 5)?
24 +m = 52
om=1°]|t},




24, x?-y?+6x-2y+8 = ALEOMSHH (ax+by+c)(x+y+4) A o,
a+b+c 2 = Fstoiet

x2—y?+6x—2y+38
=x?+6x-(y?+2y-38)
=x2+6x-(y+4)(y-2)
— (- (= + 0+ 1))
=(x-y+2)(x+y+4)
ca=1,b=-1,c=2
La+b+c=2




0

a*(a—b) + (a-b)(b? + c?)

(a—=Db)(a® 4+ b + ¢?)
na-b=0,a=>b 2 o5

=a?(a-b)+a(b? + c?) - b(b* + ?)

a® —a?b + ab® + ac? — b3 — bc?
a® — a®b + ab® + ac® — b® — bc?
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